CHAPTER 14 PROBE QUESTIONS:
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1. -Occasionally Marilla would raise her arm even when the trainer had not done so, (she wasn’t imitating their response) did they reinforce this behavior?
· No, they didn’t reinforce this response on these occasions
2. –Can someone provide diagram of imitation training with Marilla: stimulus discrimination and response differentiation
· Stimulus discrimination – in the presence of the SD (trainer says “do this” and raises arm), a response occurred (Marilla raised her arm), trainer reinforced that response (presentation of food and praise). In the presence of the S Delta, raised arm was not reinforced. (GO OVER DIAGRAM) 
· Differential reinforcement/ Response Differentiation—Marilla must not only respond at the right time, she must also make the right response. 

3. -Give an example from the book of generalized imitation with Marilla?
· Marilla made particular imitative response though trainer had never reinforced that particular response.  Reinforcement of previous imitative responses had generalized to this new response. 
4. -Can someone describe Stimulus discrimination training with Marilla to establish imitation in her repertoire? 

· Before no food or praise, behavior is raise her arm, SD is teacher raises hand and says “do this”, After is has food and praise, Sdelta is teacher doesn’t raise hand and say “do this” After is has no food or praise.
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5. -How did they establish generalized imitation with response in Marilla the chair tapping an circular motion, and did it extinguish after it was repeated several times with no reinforcement?
· Trainer reinforced all those responses he’d previously reinforced, but was careful not to reinforce tapping the chair or making the circular motion with her arm.  Both of these generalized imitative responses maintained; they didn’t extinguish in spite of repeated non-reinforced occurrences intermixed with reinforced imitative responses.  
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6. -Can someone explain how this example fit the generalized imitative definition?
· Showed that Marilla could perform specific imitative responses without direct reinforcement of those specific responses.  But reinforcement of some other imitative responses must occur before the unreinforced imitative responses occur.

· They reinforced some imitative responses so that imitative stimulus control could generalize to other unreinforced responses.
7. -What 2 contingencies are needed to train imitation and can someone explain why?

· Discrimination contingency and differential reinforcement 
contingency

· Need to respond at the right time and make the right responses. To get generalized to unreinforced responses. 
8. -Can someone explain what contingency maybe the best way imitation is learned?
· Added reinforcement contingency maybe the main way imitation is learned; the behavior of the imitator is reinforced by someone else, it it’s similar to that of the model.
· -the model’s behavior is an SD in the presence of which, similar behavior of the imitator is more likely to produce the added reinforcer.

9. -Can someone give an example of imitation with reinforcement with a baby?

10. -Can a built in reinforcement contingency be present on top of the reinforcement contingency?
· Yes for example Sid’s kids swigging the soda like his dad, both receive the sugar drink.

· *However, for this built-in contingency, Sid’s swigging isn’t an SD because there is no S-delta.  Sid’s swigging the soda is a prompt, rather than an SD.  The SD is the label on the can and the can is the operandum. 
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11. -Can someone explain the anticipation procedure?
· -Anticipation procedure:  held the picture for several second before giving the verbal prompt.

· -If Dicky correctly named the picture before she presented the prompt, he got a bit of food more quickly than if he waited until after the prompt.

12. -Why would showing the picture of the cat come to control Dicky’s saying “cat?”

· Because this is a form of differential reinforcement of answers with short latencies.  He will get the praise and food sooner after the attendant shows the picture, if he responds immediately than if he doesn’t response until after the attendant’s prompt. 

· Another example of this was done in elevators by Dr. Van Houten, he delayed the elevators door closer to 20 sec so it was actually noticeable quicker to take the stairs. The elevator usage went done considerable during this intervention thus requiring more exercise from the office workers.
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13. -Why do we need the theory of generalized imitation?
· Theory of generalized imitation: explanation of why reinforcement of some imitative responses maintains other imitative responses that we are not reinforcing

· Even when imitator knew subset of responses wouldn’t be reinforced so theory states that Marilla’s generalized imitative responses occur because they automatically produce learned imitative reinforcers-stimuli arising from the match between her behavior and the models.

· Marilla’s behavior matches the models.  This correct imitation automatically produces visual and internal stimuli-seeing and feeling her behavior matching the models.  These automatic, imitative, reinforcing stimuli reinforce Marilla’s imitating new responses that have never been reinforced by the behavior analysts. 
14. -What do we mean when we say the FORM of the behavior of the IMITATOR?
· The form of behavior usually refers to the topography of the response

· We mean the behavior of the imitator is similar to the behavior of the model because of experience with a special reinforcement contingency.

· Behavior of the imitator has been reinforced contingent on similarity to the behavior of the model.
15. -*When defining imitation do we always mean behavior is similar to the model, this is a tricky one so be careful?

· We do not just mean that the behavior of the imitator is similar to the model’s behavior.  

· Would not be imitation if the similarity were because both the imitator’s behavior and the model’s behavior were controlled by the same contingency.

· i.e. both cover ears (the removal of the aversive condition in this escape contingency wouldn’t necessarily depend upon the similarity of the behaviors)

· i.e.  When a traffic light turns green 
· *So to be sure you have imitation, you must show that the behavior of the imitator is under the stimulus control of the behavior of the model.

· Must show similarity of their behaviors is not under the control of some third factor.

· When their behavior resembles that of the model and changes in the behavior of the model produce similar changes in the behavior of the imitator 
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16. Are imitative reinforcers are learned or unlearned? 

· Learned, Imitation has been paired with other reinforcers in the past which makes it a reinforcer like attention and food
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17. -Why is it that babies babble sounds very similar to their parent’s native language? 
· Babies sound like their parents because the sounds themselves are simple learned reinforcers.

· However, babies also sound like their parents because the sounds are imitative learned reinforcers.  And imitative learned reinforcers involve a little more special training than simple learned reinforcers.

· *Child’s imitation of parent’s vocal behavior can be maintained in two ways:
1. Imitative vocal response produces learned imitative reinforcers

2. Vocal imitative behavior may be reinforced by social or other reinforcers

· *So, as Rod is learning language his extensive imitative repertoire is essential

· Otherwise, have a hard time learning desirable behaviors

· *Without generalized imitative repertoire, imitative verbal responses are not likely to occur.

